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Tybes of Polynomial @;gm ) Name of Aolynomial

b(Ge) = ¢ 0 Constant
p&d =ax+b , a #o 1 Linear
b6 = ax*+bx+c. , a +o 2| Quadratic
b = ax®+ bx*+cxt+d , atol| 3 Cubic
b6 =ax! +bx3+cxt+dx+e; 4 bi-guadratic
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divided by 2x—]
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| Examble 3:-
| ILLf}le._}?_oﬂd nomial. 3x2—2x +h s divided b
x+3  the  remairder is 5. Find - 'éhe.qvague_a (K
| Sofudion i= Lot plx) = Ix2—2x 1A
lPut x+3=0 = x=-3

-__&mea_[eﬂamdeLéhao_tem_bQE,)_j_sJﬁe_}ﬁam_/'za/_er.

L = bEad= 3Cad_—2x£3) +4A =
= 5 = 3X9 +4 +A
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o _aLﬁbe,Ofem bu,t xX-2 =0 99x=2

b(2)y = a2+ Yy + 5 w8a+13 —~())
._a.nd_namamder_ﬁeﬁf_an_dL 3_Yx™ -2
is. _p(2) = 22 Qa4+ 0 = PFwlfsa
= Bl e o
Since both yewmainders are pguﬂ_ﬁ; sa trom (1> andtp.,
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= g = =2] = s —2 =2 —8K
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remmnder f_ on lelsmh
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29 -29 =-20 = 294189 =20 = 204 -2p
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=) qu Now .Ernm(h'_)} b= ~2X9 =-2

mpreﬂnr’a; 2 = G and r}_):: -
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—+—EACTOR. _THEOREM.

_If pe) s o }mﬂg nomial._and ‘o’ is o real number.

_EHfle._n_@c.;a;) is_a —ﬁacfor_o_f_fs(aa)_i_&b@) =0
Le. ulhen—_b@&)_is_cbjz_ﬂded__bﬁ_éc;a)_ , then_ b@) =0

Example 7:- Determine which of the following
——4&%&%411}3_@ Lactor ;-

(>3 +x* 4 x 4]

Put x+]=0 = X = ~)
et plx)d = x34x2p x4
pl=1d= 12+ EID* L)) +) = )40 =D
Since., b1 =0

sQ, B{L{ Lactor theorem
(c+D) is a Lactor of }5\_/.1)

| (D >+ 353+ 35>+ 4]
| Let !DCJC) -
bE1) =

X1 4+ 3534 32 L X+
EY + 310+ 3D+ E1D)
| + 3£+ 3X) +0

| -3 43 = |

Since, pEDF#EO S8, ba factor thearem
6% +1) s not a factor of JER

—

Examﬂa 8 Show that (c+3D is a factor of

2x*—> —2]|. Hence ,factorise. 2 x*-x-2]
SnJu-l-fQH;- et P(x) = DY)
Put >c+2 =0

= ) = =3 2x—F
bl=3> = 2(-3)~(23)-2] x+3) 22— -2
= 1843 ->] 2x*+6x
= 0 B _i-?x -2
$o,(x+3) is a Lactor of ,E(x.) - Fok =2 )
Dividing 2x*—x -2| by (c+3), t +
_me._%edf Cx-7F) a_cgr?r_\%:'pnf.’ and._rewainder=0 X

Therefore, 2x*-x-2) = Qc—}-a)@x-?)
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Use._factor theorem to facto tfse_corzfijiez‘egy_
ped=x3 4 x* - Yx Y _
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b f X ,;@or_wh_ir_b 1@(,:&) = O_bg_ﬁfé_amﬁ_fl:L'él_ﬁ_mgféaa/;
| For this we see the constant term Y4 _and consider
_|_its factors #1, +2, +Y
__|_Euﬂ:j_n g these ﬁaaﬁo_r_s;asjba_mﬂue.sﬁoﬁ_x_,_an_e_%z
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pED = (E=102 4 1) =YD =Y
= ~|+]|+Y-Y = o LopEid=a
_Qim_,_b_@;igﬂ—f@)’-- Yl -y
= &+4Y-8-Y =0 Lo p2) =0
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%—-t—l-
%-2) %P4 e Yl
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X

Now, 24 2% 40 = x o2 42
=xx(x+D+2(x+])
= G+ DC(x+2)
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